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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
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otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
1—tan%8 | 1+ cos?8 | 1+tan?8 | 1 — sin28 sec’f = 1
J;v“(’ 73 y S ‘atuﬁbﬁﬁjf/;ﬂu’r[,u’u 2
An arc Chord Diameter Radius The distance of any point of circle to its centre is called.
S, o ) A% e bn Sl e o] 3
Centre Diameter Chord Secant A circle has only one
St _/(l/"‘ J;‘U" J"L;Aﬁ_} zuyf ufu?.’vi'uw&:__u:/"wu%é.:’]d//gf'l}"u 4
Over A pair of chords of a circle subtending two congruent
Parallel lapping Congruent | incongruent | central angles is
-ugég,;fqu}“/éféum;c"’u:-j» .5
4 1 3 2 How many common tangents can be drawn for
disjoint circles.
(x+7)and | (x-7)and | (x+7)and | (x-7)and i skl P -15x+56 | 6
(x+8) (x-8) (x-8) (x+8) Two linear factorsofx2—15x+56 are
b ETA bl N\l b et Tolieartrs” | 7
. o7 WAk r 9 5
Harmonic Mean Mode Median The most freque?t occuririg observation in a data set
mean is called.
1,-1 RN~ 1w W, —w A uienLO8 8
\ ’ ' Two S¢ ys of unity are.
0 .l 1 5 ‘ -‘Liy;b/.écziuaéélﬂ .9
Sum of cube roots of unity is
1 k 2.1 502 o X
Z e 3 2 oz ol 2 . s — : b | .
y2 =W P2 = y? = 5 yZ_F Ify - then 1y ocx3f 10
by a+b x+y| @ x b _g_ofjf?na:b=x:yﬁ 11
ey e 5 = — b = == —_— -
& & o Y Y | If a:b = x:y,Theninvertendo property is:
. * x2+1
- ; 7y —— | .12
Ax+B  C A B A Bx+C A B wde(J——J/d,]J (x+1)(x—1)
FESUE O A fs B IR L ul (i g 2y
Partial fractions of —————are of the form
(x+1)(x-1)
v - i1 i ‘ o e b LOA-1,08 | .13
Point (-1, 4) lies in the quadrant.
.:f[}’? e Lr sl Pt -‘[-Hk'(”kf/vg"—j/’ﬁtﬁb"! 14
Subset Smil:t:ton Power set Null set The set having only one element is called.
oy besidl> ol 2o et e balle ndir 2ol | 15
T Bigsin Kl Mg The measure which detex:mmes the middle most
observation in a data set is called.
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Part I

Answer briefly any Six parts from the followings. 6x2=12
Solve by factorization 4 -32x = 17x°

Solve the equation by quadratic formula 4x’-14 =3x

Write the names of the methods for solving a quadratic equation.

Write the quadraiic equation from givenroots 3 + \/5 , 3= V2
Evaluate @’ +@> -5
Find the sum and product of the roots of
equation 2px” + 3qx - 41 = 0
If RocT? and R=8 when T=3 find R when T=6
Find a third proportional to a-b ,a-b
State theorem of componendo~dividendo

Answer briefly any Six parts from the followings. 6x2=12

Define rational fraction and give one example.

X

How can we make the partial fractions of —————
(x+a)(x-a)

Define ordered pairs.

Y =Z% , T=0"% thenfind YN T
If A=N and B=W Then find the value of A-B
If X={a,b,c} and Y={d,e} thenfind ¥ X X

For the following data find the harmonic mean.

X 12 5 8 4

Find the arithmetic mean for the set of data
12,14,17,20,24,29,35,45

What is Commulative frequency.
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4-32x = 172 S $F 2k

4x°-14=3x 2 S ur 5l i G
AL YBIEE S St Gosss

3442 , 3 -~ _z :—UL»J.MJLUJ;JZQ:
0" + @™ 5 g

e 6L 2px*+3qx-4r=0 =il
e S

T=6.Z25 R InT=3_2R=8 s R o< T2 |
a’-b’,a-b -gﬁ.:()"../lﬂt/{
e S S

..u.‘f p; /’ O 5 f"? Lzl {c.éf )it 3 / Jir

“Gaefingt oy S8
eSS Gz —

(+a)x-a)

Syl sa

YNT &k Y=2%, T=0%/
A-B &£/ JA=Nand B=W.i

Y X X&) X={ab}, Y={de).]
e Al 1AL ot s g sie

X 12 5 8 4

A W T
12,14,17,20,24.29,35 45
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6%2=12
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Answer briefly any Six parts from the followings.

27
Convert -3—- into degrees.

Find /,when 6 =180 ,r=49cm

Verify that tan’ 6+ tan@ = tan’ @ sec’ 0

Define coterminal angles.

Define obtuse angle.

Define Tangent.

Define chord of a circle.

Draw a Triangle ABC |AB|=5cm, |BC|=3cm, |[CA|=3c¢m

Define Polygon.
Part I

LI Limge S e diditn 440y
N FNAVE 33’5 .
0=180° ,r=49cm £+ i
tan® @ +tan> O =tan’ O sec> O SEZE=cb il
Sy Pl v
RZIY R TR R
ZuJluv v
Sy i
|AB|=Scm, |BC|=3cm, |CA[=3cm -&-LABCEL  viii
S St ix
£ ¢ -~

Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) 4§19 A/, ezl iyt dfid

Solve the following equation 2x*=9x*-4

If a, B are the roots of the equation 4x°~5x+6=0 , then

ot B
find the value of — 4+~
(24
I 10 is added in each number of the ratio 4:13, we get anew

ratio 1:2 what are the numbers?
x%-3x+1

Resolve into partial fractions -D2(x-2)

IfU = {123, .... ,203
X ={1,3,7,9,15,1820} Y = {1,3,5,...,17)
thenshow that X — Y =XNY’

Determine Variance.

Student No 1 2 3 4 5 6

Marks 60 | 70 | 30 | 90 | 80 | 42

Prove that sinf(tand + cotd) = sech
Circumscribe regular hexagon about a circle of radius 3 cm.

Prove that two chords of a circle which are equidistant from
- OR.

Prove that the angle in a semi~circle is a right angle, ina

the centre are congruent.

segment greater than a semicircle is less than aright angle, in

a scgment less than a semi-cirlce is greater than a right angle

wtzox’-4 EEf S enatits  as
JJ:)',.?/A’/;U_WUJ)J<£4XZ"5X+6=O =l a, ,B /7' b

2 2
%Jvﬁ—-&‘fﬁ%«f

(24
Se12edG /iy /G100 u s L e3Pl a6
s s gl S
x?-3x+1

GG LSz b
U={123,....20 0 a1’
X =1{13,7,9,1518,20} Y ={13,5,..,17}
X-Y=XnY Jy/eki
g b

A L1203 4ls s

A 60 | 70 | 30 | 90 | 80 | 42

sin8(tand + cotf) = sect Z{at' .a.8
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otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
sin @ 1 1 )
- sin 0 - sec  cot§ = 1
cos @ sin @ cos
S %ol Py Ui S A ES p LU BT L | 2
Anarc A chord Diameter Radius The distance of any point of the circle to its centre is called.
uﬁ’d{/,_,ﬂ&fr LBk 4bEn /,J:l'a’?uf ,QGK/@/’UJVVQ 3
Nopointat | Singlepoint | Two points | Three points | A tangent line interects the circle at
all
S J/’]’ J-U"/:‘ J&L}‘»‘ -Zunu’f‘f':fuuflicuﬁ’»fdrﬂjd"l}‘» 4
; A pair of chords of a circle subtending two congruent
Parallel Overlapping | fncongruent | Congruent B e:gtra] 5 nglg % eme d R
Z_r_ E E E ‘ _ _‘¢t'ﬂ,:;uu‘;gj-f¢_/’bﬂ .
5 4 3 2 Angle ifiscribed in a semi-circle is ”
dsba B obVJV':J sl $rie ::l:lf‘u':é’ : _._J.Q;.JMZx“ﬂx’+7x2~3x+2=0 bl | 6
Quadratic | Exponential Radical Reciprocal | An qua}ion of the form 2x* -3+ 7 -3x42=01is
Equation Equation Equation Equation' | called@/an
Praduct of cube root of unity is.
Fe S t}:y,! J’?f/.’/.l' &?:/J/. i A L axaxr 1=0abls | g
Real Roots of equation 4x*-4x+1=0 are
Irrational Imaginary Une qu,al Real , equal
‘5/(5/» AR A s e mblatbicidart | 9
Fourth .
Consequent prOp(:;tional Extremes Means Inaproportiona: b ::c:d,b and c are called.
x vy Xy ~ewerbEZURX iy Sviw | 10
— xyv — —
vy x v The fourth proportional wof X:y::viw is
prop Yy
&,bl d/'li sl /y'?‘)/;; /.rzl; _ga&fn/,l/,knukic_,?u LC/)/!KD#‘CPQJ:J/ 11
Algebraic & . An improper A proper A fraction in which the degree of the numerator is greater
relation Mg fraction fraction or equa! to the degree of denominator is called.
. . ) " e QIS L L{123} | .12
The number of elements in power set of {1,2,3} is
b zAUBIUnce 7 B A S| 13
BUA U] B A
If A and B are disjoint sets, then A U B isequal to
CLL"UV?/ .‘5’0}( le‘u'uf;f.' )l)’u‘u/r -‘Lt‘lh{:’ruﬁf(;(‘:j $od | .14
. 4 g o s o
Polygon Histogram Ungrouped Groupe A data in the form of frequency distribution is called.
data data
i o] i o e bt fe o &N X2 | s
Sum of the deviations of the variable * X from its
Different Same One Zero mean is always.
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Answer briefly any Six parts from the followings.

Define exponential Equations.

6x2=12

Solve the equation by using quadratic formula. 5x*+8x +1=0

Write the quadratic equation in the standard form T + 5 6

Discuss the nature of roots of equation X 2+6x -1=0

Evaluate (9 +4w+ 40? f

x+1

<

Withé)ut solving tind the sum and product of roots of quadratic

Equation px2~qx+r=0
Define direct variation.

Find fourth proportional to 5,8,15

1
If y ¢ — and y=4 when x=3 find x when y=24
X

Answer briefly any Six parts from the followings.
' . . x—11

Resolve into partial fractions ——————

(x—4)(x+3)

Define a rational fraction.

IfX={1,4,79}and Y={2,4,59} thenfind X NY

IfA={ab}and B={cd} Thenfind B X A

Find aand b if(2a+5,3) = (7,b-4)

Define a subset.

Define class limits.

Define mode.

6x2=12

The marks of seven students in mathematics are as follows.

Calculate arithmetic mean.

Students No | 1 2 3 4 5 6 7

Marks 45 [ 60 | 74 | 58 | 65 | 63 | 49

LIz lnge §f e tditn 20y

Sl died

5x*+8x +1=0-f S Uy 5 ssns S bolr
- %?'- = 6. LA Ao S sk B2
X2 +6x-1=0 -é&4rﬁf&u5;/£¢f;b‘
(©0+40+407) b
-’jé,'}"‘g,/d"wuﬁ(J,J/ﬂéd’fal,l/
px’~qx+r=0

~£~4’/‘7 S

SE BB 765815

% 1 -
y=24 L L X nx=32y=du y o< — f]
%

LS f e Linge §S e tditn 340y

s s
-y NPnL

_Ze X N Y InY={24,59)m1X={147,9}.]1
_ZE B X AjnB={cd}siA={ab} i
(2a+5,3) = (7,b-8) 12 b sta

o lers

FEv el

“ZEy ke

(u:/'ulwdjgjﬂo:é/iufdbgjé_u}&)%c«(/

,’Z__:r)l” L/:!QL’

wSdP 121345 ]|6]7

A/ S [ 45|60 | 74|58 656349
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Answer briefly any Six parts from the followings.
Convert 45.36° to D°M'S" form

Find £ swhen 8 =180° r=4.9cm

Verify the identity (1—sin@)(1+sin @) = cos” @
Convert into radian 315°

Define Obtuse angle.

Define Secant.

Define Escribed Circle.

Define tangent to a circle.

Draw an arc of any length and divide it into two equal parts.

Part I

6x2=12

- 560-G2-3>-

LIz Limge e ditn 420y

SIS A DM S" {4536
r=4.9 (0=180" 2z s L
" (1-sin@)(1+sin ) = cos® @ Etf el v

315° e b

Iy R Ty

oy Sl

oy Sl

oy Suw L s

-':ér?“u:uf’/.u.»fumui‘{uiuf&unf’
(22~ -2

Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) q:.dil!9/.", Jrg /s 7 Azl eyl s

Solve the equationVx + 3 = 3x — 1

(f a,f arethe roots of the equation X+ pX + =0,
a

form an equation whose roots are — , —
a

Using componendo — dividendo Theorem find the value of

x+2y x+2zZ | _ 4z

x—2y + xX—2z - ;/_;;

Resolve into partial fractions 29 2t
(x—1)?(x~2)

fU={123,.,10} A={13,579} B={2357}then verify
De-Morgan Law (AUB) =A'NnB’

Find the standered deviation ‘S’ of set of number’s
9,3,8,8,9,89,18

Verify that sin®8 = sinf — sinfcos*6

Circumscribe a circle about a triangle ABC with sides
|AB|=6cm, |[BC|=3cm, |CA|=4cm

Prove that two chords of a circle which are equidistant from
OR

Prove that the measure of a central angle of a minor arc of a

the centre, are congruent.

circle, is double that of the angle subtended by the

corresponding major arc.

ESNx+3=3x— 1
:A;l/@?uﬁujuﬁxz+ pX + q=O=tsis B.a ./fl

ung ; —ﬂ-ujuéif”b__—t:
p «

(#4)
(#4)

i + Tes _LML,/JW!Q;»}M-:UJ/}',W
x—-2y x—2Z *
wx = 22 Jighepe o i
y+z ¢
2_ " -
x*=3x+l _Z’lyd://dﬁf

(x-1)>(x=2) ~
{

wU={123,.,10) s A={13,579},B={2,357} i

St (AUB)Y = A N B 037

B S NS0 3,88.9.89,18 15 e sl

sin36 = sing — sinfcos*d S =l
S5t £ £ Lt 6§ AABC
|AB|=6cm, [BC|=3cm, [CA|=4cm -}
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S U By ATV

/:ﬁ~,,:;dy’/ Ul;&l.,a__uﬁf",j;’.gﬂp/’uujfu_‘/:f.'f‘
_gtnbc)c—d“_:l]u"z[_aﬁ(d}.w&uﬂ

1020 - 1022 - 55000

A
i
Jii

v

Wvii

Lviii

.a.5

.a.6

.8.7

.a.8



